2x 4+ 4 = 10—-4x

@ 2x-4x=10+4

D 2x+4x=10-4

@ 2x+4x=-10-4

® 2x+4x=10+4

B 2x—4x=10—-4



@ x=3x-1
O 2x—-1=x+4

© *+3=x ®
3x+1=3(x-1)
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@ 5x-1=3x+3 @ x-2=4x-6-x
® 2(x-3)=8x-6 @ —-(x-2)=x-2

® 1-(x+1)=-2x+2
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D x+4=4+x-9 @ 4x+9 =4x

® 10x+4=4x-9 @ 10x4+4=40+x-9
® 10x+4 =40+ x+9
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D 6+x=x+6-18 @ 6x+ 18 = 6x

® 6+x+18=6x @ 60+x-18=10x+6
® 60+x+18=10x—+6
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@ 2700 — x = 4000 — x

O 2700 — x = 2 x 2000

@ 2700 — x = 2(2000 - x)

® 2700 — x = 2000 — x

3 2700 — 2x = 2000 — 2x



12. tvg& H3ARe g Fstofzt

SAYSAA AS o] Fajw o u), 3 Aol Al 2 AH
tpiro] 27 17 717} L, 3 714 1hieo] F7 8 A7} st

a Iél-: 7H



13.

lo

™ 1000 Yo]

1 8hd 9 HhojlA] 3]H]E o=t 9F Fo 100 ¥4 &
Sty o] ®ho] sHAy

Rzt 150 94 2o H1500 Yol et
TE xS o, 2 g3t 429

@® 100x + 1000 = 150x — 1500
@ 100x - 1000 = 150x + 1500
® 100x — 1000 = 150x — 1500
@ 100x + 1500 = 150x + 1000

3 100x = 1500 = 150x — 1000
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@ x=-1 @ x=1

D x=-2

® x=3

@ x=2
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@ x=-1 ® x=4

D x=1

® x=3

@ x=-4
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@ 6x+ 4x = 5x @ 6x+4x=5 ©)
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O x+(x+1)+ (x+2) =57
@ (x=1)+x+ (x+1) =57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x4+ (x+2)+ (x+4) =57
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